
SAP ABAP table IBKK_PO_DYN_RECEIVER {Screen Payment Order: Detail Recipients}

IBKK_PO_DYN_RECEIVER

PAYMETHOD [CHAR (4)]

BKKRS_ITEM [CHAR (4)]

BANKS [CHAR (3)]

TCUR [CUKY (5)]

ACUR [CUKY (5)]

NACUR [CUKY (5)]

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 IBKK_PO_DYN_RECEIVER-BANKS = T005-LAND1 
0..N

1

TBKK01

MANDT [CLNT (3)]

BKKRS [CHAR (4)]
 IBKK_PO_DYN_RECEIVER-BKKRS_ITEM = TBKK01-BKKRS 

0..N

1

TBKKG1

MANDT [CLNT (3)]

MEDIUM [CHAR (4)]

 IBKK_PO_DYN_RECEIVER-PAYMETHOD = TBKKG1-MEDIUM 
0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 IBKK_PO_DYN_RECEIVER-ACUR = TCURC-WAERS 

0..N

1

 IBKK_PO_DYN_RECEIVER-NACUR = TCURC-WAERS 

0..N

1

 IBKK_PO_DYN_RECEIVER-TCUR = TCURC-WAERS 0..N
1


